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LO: |can identify the domain and range of a function. £k

[C]DONOW  On the back of this packet

[ ](1) Need to know: Domain and Range

Ultimately, all functions do is convert inputs into outputs. So, each function has two sets associated with it.
Those things that serve as inputs and those things that serve as outputs. These sets are given names.

L.

THE DOMAIN AND RANGE OF A FUNCTION
The domain of a function is the set of all inputs for which the function rule can give an output.

2. The range of a function is the set of all outputs for which there is an input that results in them.
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[ ](2) Determining the domain and range
Exercise #1: Consider the function y = f(x) shown on the graph below. R
(a) Evaluate each of the following: /
[(=3)= ()= r3)= //
(b) Can the function rule, given by the graph, give you a value X
when x=5? If so, what is it? If not, why not? e
(¢) Is x =5 in the domain of the function?
(d) Give two other values of x that are not in the (e) Circle the following y-values that are in the
domain of the function. range of the function? Show evidence on your
graph.
y=3 y=4

(f) Write the domain and range of this function using a single inequality.
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[ 1(3) Determining the domain and range

Exercise #2: Given the function f(x)= §—3 and the domain shown below, fill in the range. Write the set in

roster notation. Domain Range

Range:

Exercise #3: Which of the following values is not in the domain of the function f(x) shown below? Illustrate

your thinking by marking points on the graph. 4
(1) -3 3)5 7
X
(2) -4 0 ]
—(x+2) h<r<n
Exercise #4: Consider the piecewise linear function given by the formula f(x)= 2 e
4x-10 2<x<4
Determine the function’s range. y
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[14)

Application of domain and range

The following graph represents the height above the ground versus time at a resort as Thomas rides his
favorite ski slope.

100
(a) State the domain and, in your own words, )\
what the domain represents.
2 /
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(b) State range and, in your own words, what =~ 2
g —
the range represents. =
/ \
N
0 1 2 3 4 5 6

Time (in minutes)

(c) What might Thomas have been doing for the interval 0 <7 <2 ? What was his average rate of change?
Use proper units in your answer.

(d) What might Thomas have been doing for the interval 2 <7< 6? What was his average rate of change?
Use proper units in your answer and compare to what you found in (c).

[1(5)

Func cation of domain and range

The graph below represents the height of a ball over the interval 0 <7 <8. After how many seconds was the
ball 12 feet off of the ground? Explain your answer.
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What does your answer indicate about the range of this function?

Height (in feet)
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[](6) Exit Ticket
ON THE LAST PAGE

[ ](7) Homework

FLUENCY

1. In each of the following, state the domain and range; then decide if it’s a function or not. Be sure to explain
using words such as input, output, domain and range!

(a) (b)
y
Domain Range
/
II
N bs 12
1T\ / . 18
\ =L
\
Domain: Domain:
Range: Range:
Function (yes/no): Function (yes/no):

2-3x -1<x<1
2. Consider the piecewise linear function given by the formula f (x) ={ zx | x< . Determine the
x— <x <3

function’s domain and range. Draw a graph of the function to fully justify your answer. Use tables on your
calculator to help graph. y
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Exit Ticket Name Date Per_ 3.4L

(1) The LO (Learning Outcomes) are written below your name on the front of this packet. Demonstrate your achievement of
these outcomes by doing the following:

The domain is all of the

The range is all of the

Write the domain and range for each graph below.
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(1) Solving progress: Solve one of the two problems below.
(@) —5(1 — 5x) + 5(—8x — 2) = —4x — 8x (b) -2(4x —3) =10

(2) Translation to algebra progress. Write an algebraic statement to represent this situation. Be sure to write a “Let”
statement to define any variables.

Danielle wants to paint a ceramic planter. The total price is the cost of the
planter plus an hourly painting rate of $6. Determine how many hours Danielle
painted if she spent $9 on the planter and her total bill was $33.
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